EMCF 31

Loginto CourseWare at http://www.casa.uh.edu
and access the answer sheet by clicking on the EM CF tab.

1. Givean anti-derivativefor g(X) = x° + 2x—+/X .

2
a A+ _§X3/2

b. %1x“+x2 —wa -1
c. x4+%x2—gx3’2—2
d x*+x° —§x3’2

2
e. :11X4+x2—§x3’2—2

f.  None of these.
2. Givetheareain thefirst quadrant bounded between the graphsof f (X) = X and g(x) = x*.
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None of these.
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3. Compute& ;[ sin(t)dt.

—cos(X)
—sin(x)
cos(x)

sn(x)

None of these.
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4. Compute& [ sin(t)dt.

—cos(X)
—-sin(x)
cos(x)

sin(x)

None of these.
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5. Compute%j[si n (tz) dt .

a
b.

o

e.

—cos(x%)
-sin(x?)
cos(x?)
sin(x%)

None of these.

6. Compute% E sin (t2 ) dt .

a
b.

o

2xcos(x?)
2xsin(x?)
cos(x?)
sin(x?)

None of these.

7. Compute% T sin (t2 ) dt.

o W

o

3x
—cos(9x%)
-sin(9x?)
—-3c0s(9x%)
3sin(9x%)
None of these.

8. Compute%ifsi n (t2 ) dt.

a
b.

a o

—cos(9x?)
-sin(9x?%)
-3c0s(9x%)
3sin(9x%)
None of these.
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9. Compute— I Sln(t )dt.

a

b.

C.

d.

e.

dx s,

2c0s(4x?) — 3cos(9x2)
2sin(4x?) —3sin (9x2)
2xcos(4x?) - 3xcos(9x° )
2Xsin(4x%) - 3xs n(9x2)

None of these.
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10. Compute& é[ S|n(t2)dt.

a

b.

C.

d.

~2c0s(4x%) +3cos(9x?)
—-2sin(4x?) +3sin (9x2)
—2xc03(4x%) +3x cos(9x2)
—2xsin(4x?) +3xsin(9x)

None of these.



